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QID : 201 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

freafafe vy o R o Reed # @ usr Ry
(?) & TUE W HS gl TET w F@T

2 | 1 5
4 | 2] 3
3|86 |2
25113 | ?

Options:
1) 16

2) 30
3) 31

4)41
Correct Answer: 31

Candidate Answer: 31

QID: 202-
How many triangles are there in the given figure?

&1 o s # P g 7

/X




Options:
1)8

2) 10

3)12

4)9
Correct Answer: 10

Candidate Answer: 9

QID : 203 -

A word is represented by only one sel of numbers as given in any one of
lhe alternatives. The sets of numbers given in the allernalives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrixl are numbered from 5 to 9. A letter from these matrices can
be represented first by ils row and next by its column, for example, ‘P’ can
be represented by 10, 56, elc,, and ‘K’ can be represented by 30, 58, elc,
Similarly, you have to idenlify the set for the word “FRONT™.

TS G e Th WRI-UHE G G IRL-§, swar By Rsedt o &
"y & Rar s 3 fawedt Ry sw Hewrgeg sert @ o gt
ERI g 7w § Skl fR Rw v g el A ¥ meggl F T AR
ufen i T 0 | 4 § 3R smegen 5 F 91 5 Rm 8 wh 36K
P TR ZEOT Uhh X olg F T T GR GT S Ahal ol
SeIeAvr 3 T P @Y 10, 56, 3§ galI S THA § A K’ @30,
58, MG aRT GART S FHAT &1 FE ale I U@ uA A T e
“FRONT? & forT Gag =l ugaraen §

Matrix-1 Matrix-lI
Il Frege-ll
0l1(2|3]4 5(6|7|8](8
O|F[H[J|L|N S5|N|(P|I|K|B
1|PIR|[T|V|X BI|L|E|R|M|A
2(Z(B|D|G|E 7|4 T|D|O|Y
JIK|IMIO|Q|S 8|H|V|B|Q|W
dlulwlylalc| [9]F[X][Z[C|U

Options:
1) 00, 11, 32, 56, 76

2) 95, 67, 32, 56, 12

3) 00, 67, 78, 04, 76

4) 95, 11, 33, 55, 77




Correct Answer: 00, 67, 78, 04, 76

Candidate Answer: 00, 67, 78, 04, 76

QID : 204 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& TR 3T HgaA # U 3H I AP @ gaw
T # vy sl Bfka

>N

Options:
1)

P

2)

3)

4

>

Correct Answer:

DK




Candidate Answer:

DK

QID : 205 -
Which answer figure will complete the pattern in the
question figure?

W W 3 AFHA T Ag & ulawT @ g
GelI

“~J

Options:
1)

2)

3)

4)

A

Correct Answer:




Candidate Answer:

QID : 206 -
[f & mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Y ™R 00T F AB YW W T@T S, o & e
T aTefaal # @ HiF oW ampta Uy e A
T viafases gefr?

A A

A A

Options:

1)
we

2)

YV

4

A A




Correct Answer:
!a
Candidate Answer:
!a

QID : 207 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ F Uy ool # REW WGER Fe #@
AT Deed T Tield & a5 T8 bd ¢ AP

S fewng e
3 <>

Ca3

RN




Options:
1)

o <
<
o 20

2)

3)

4)

&
Y

Correct Answer:

Candidate Answer:

O <
<
& Q0

QID : 208 - If ‘A’ means '+’, ‘B’ means -, 'C’ means 'x’ and ‘D’ means *+’, then which of the following equation is true?
i A BT 3 v+, B @ e, ¢ @ o ' qur ' BT oief 4 B, A Fofaiea & & 1 1 wefieRor wgt 82

Options:

1)12D6A4C3 =12

2)48D3C2=31

3)14C2D7A3=6

4)24C3B14 =158




Correct Answer: 24 C3B 14 =58

Candidate Answer: 24 C 3 B 14 = 58

QID:209-1f9$4=17and1$5=10,then3$6 =72

UE9$4=17TU1$5=108, N3$6="2

Options:
1) 11
2) 14
3) 13
4) 16

Correct Answer: 13

Candidate Answer: 13

QID : 210 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Book
2. Bread
3. Butter
4, Bayern
5. Bulb

TR Teal T eI H S 1A A & SIER (o
1. Book

2. Bread

3. Butter

4. Bayern
5. Bulb

Options:
1) 42135

2) 41253
3) 42153
4) 41235
Correct Answer: 41253

Candidate Answer: 41253




QID : 211 - In the following question,select the missing number from the given alternatives.

7, 26, 2, 124, 215, 342

Fafaed uy & faT U e # 9 gw oi 1 St
7, 26,2, 124, 215, 342

Options:

1) 63

2)65

3) 66

4)67

Correct Answer: 63

Candidate Answer: 63

QID : 212 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

A,D,IP,?

T S o e B, R | v ug qw §1 e e e # § 98 9t Rew gy, S orgwH 3 g e
A,D,LP,?

Options:
1)U

2)R

3)wW

4y

Correct Answer: Y

Candidate Answer: Y

QID : 213 - In the following question, select the odd word pair from the given alternatives.

Frofarad uy & fou U Qe § 9 ww e 3w o giu




Options:
1) Oxygen : Gas

e : g

2) Mercury : Gas
RT : T

3) Gold : Metal
I a1g

4) Uranium : Metal

e ;- arg

Correct Answer: Mercury : Gas

URT: 9

Candidate Answer: Mercury : Gas
RT : T

QID : 214 - In the following question, select the odd number pair from the given alternatives.

FrofaRea Ty & fou e fawed & ¥ fywn d@m gm &1 gl

Options:
1)4:18

2)7:51

3)9:83

4)6:34

Correct Answer: 6 : 34

Candidate Answer: 6 : 34

QID : 215 - In the following question, select the odd letter from the given alternatives.

FrafaRad wy o 3 7 et & 9 fawg sier &1 gHu

Options:
1)U

2)s

3)Q

4G




Correct Answer: U

Candidate Answer: U

QID : 216 - Identify the diagram that best represents the relationship among the given classes.

Reptiles, Lizard, Lion

Tg 3 gAY S 2 e e ot & offa F e &1 w6l AU HRar g

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

©o




QID : 217 - In the following question, select the related word from the given alternatives.

Saw : Carpenter:: Axe:?

FofaRaa uy & fow U Qe § § Tafid wss &1 gl
Gl'l'&:ﬁﬂ;é: :W‘I’ﬁﬁ:?

Options:
1) Ironsmith

[N

2) Woodcutter

AHSERI
3) Cobbler

o
4) None of those

T A P Tl

Correct Answer: Woodcutter

TAPGERI
Candidate Answer: Woodcutter

D GERI

QID : 218 - In the following question, select the related number from the given alternatives.

8:27::64:7?

Fraferiad uy & fau e fdeedl # ¥ Teild I &1 ghul
8:27::64:7?

Options:
1) 190

2) 144

3) 125

4)72

Correct Answer: 125

Candidate Answer: 125

QID : 219 - In the following question, select the related letters from the given alternatives.
NP:HJ::SY:?

Frofeea vy & fau Tu fawedl § § wafda siert 3t gl

NP:H3J::SY:?




Options:
1) NT

2) MS

3) MT

4)Ns

Correct Answer: MS

Candidate Answer: MS

QID : 220 - In the following question, select the word which cannot be formed using the letters of the given word.

BILLIONAIRE

Fofiad fasedl 7 9 98 g gAY oft U 7T sk & 31&RT BT UANT B ol ST Sl FebelT|

BILLIONAIRE

Options:
1) RANT

2) BONE

3) RAIN

4) LINE

Correct Answer: RANT

Candidate Answer: RANT

QID : 221 - The ratio of present ages of Raman and Lamba is 7 : 5. After 6 years age of Raman will be 48 years. What is the present age (in years) of Lamba?

T qUT RS B IHF SR BT AU 7 2 5 81 6 T8 U YT DI 317 48 T8 G| AT BT Geld SIRY (IuT &) F1 82




Options:
1) 30

2)25

3)35

4) 40
Correct Answer: 30

Candidate Answer: 30

QID : 222 - Weight of Sona is four times that of Mona. Weight of Mona is 2.5 times of Hona. Weight of Hona is 1.5 times of Dhona. Weight of Dhona is 2.5 times of
Rona. Who is the heaviest?

T BT UR HHT BT IR T[T g1 AT BT UR BT BT 2.5 TAT §1 §1F1 BT YR SHIHT 1.5 TAT | SHT BT UR I 6T 2.5 AT §1 Tad W) B 82

Options:
1) Mona

A

2) Sona

3) Hona

il

4) Dhona

S

Correct Answer: Sona

Ric

Candidate Answer: Sona

A




QID : 223 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. All books are pens.
II. All pens are tables.

Conclusions:
I. Some pens are tables.
II. All tables are books.

F o MU Uy § $© H SR S a8 S BT TR S1TRd o e fou e B, grerifes S g 3 awt ¥ frar 8 wed) 31 3 ey 0g ok i feffea
B3 5 R T P 9§ ey, 37 MU Hu=t & YR TR i &1

DY
L. 9l g pad g
1L 9 o A9 B

fread:
I 39 $ad 79 |
11 9 7 g §

Options:

1) Only conclusion (I) follows.

Faa s (1) Tt B

2) Only conclusion (II) follows.

Faa fy (1) W& 81

3) Both conclusion follow.

1 &) e T B

4) Neither conclusion (I) nor conclusion (II) follows.
7 frspd (1) 7 &1 el (11) 9 B

Correct Answer: Only conclusion (I) follows.
Faa feed (1) T R

Candidate Answer: Only conclusion (I) follows.

Faa feed (1) T R

QID : 224 - In a certain code language, "PAGE" is written as "QCJII". How is "CALL"written in that code language?

T fARY $HIs U H, "PAGE" & "QCII" foRaT Wl § | 59 PIs YT Ff "CALL" ! {59 UdR forar s

Options:
1) DCOP

2) DCOQ
3) DDOP

4) DCOR
Correct Answer: DCOP

Candidate Answer: DCOQ

QID : 225 - In a certain code language, "GOAT" is written as "45" and "COAT" is written as "41". How is "BOAT" written in that code language?

T AP B U 7, "GOAT" &1 "45" TUT "COAT" HI "41" kAT ST B1 39 HIS W H "BOAT" FI fpd YR forar wmamm?

A



Options:
1) 40

2) 41

3)42

4)43

Correct Answer: 40

Candidate Answer: 40

QID : 226 - Which smallest number must be subtracted from 400, so that the resulting number is completely divisible by 7?

400 H Tt 1 At WeH BIE WA TS 9, difes uiRomt g 7 9 gofa: v 8 e
Options:

1)6

2)1

3)2

4)4

Correct Answer: 1

Candidate Answer: 1

QID : 227 - The sum of three consecutive even integers is 84. Which is the least integer among them?

& HaTTT T YUt BT AT 84 B 1 SH I W Biel QUi HIF 9T 82
Options:

1)28

2) 30

3)32

4) 26
Correct Answer: 26
Candidate Answer: 26

QID : 228 - A number exceeds its 1/6 by 30. What is the number?

Teh YTAT 309 1/6 T 30 ATh g1 I8 TS 1 72

Options:
1) 120

2) 150
3) 36

4)24
Correct Answer: 36
Candidate Answer: 36

QID : 229 - What is the digit in unit's place of the product 51 x 52 x 53 ...... 59?

51X 52 X 53 ...... 59 % UMK & SHTE BT 3 T 82
Options:

1)0

2)4

3)3

4)6

Correct Answer: 0
Candidate Answer: 0




QID : 230 -

What is the value of 27° 7

2% T AT Fam &2

Options:
1) 64

2) 128
3) 512

4) 256
Correct Answer: 512
Candidate Answer: 512

QID : 231 - How many numbers less than 200 are multiples of both 5 and 6?

200 ¥ FH T} bt et § it 5 a1 6 1 &1 01 87
Options:
1)21

2)7
3)9

4)6
Correct Answer: 6
Candidate Answer: 6

QID : 232 - Working 10 hours a day, Aman can complete a piece of work in 18 days. How many hours a day should he work so as to finish the work in 15 days?

Tl 10 92 SR &, o foreht o @l 18 i & 1 oy Feobvell 31 1 1 15 et & wmmed v & forw 39 vfafes fvan €92 & & g

Options:
1) 10

2) 12
3) 16

4) 18
Correct Answer: 12
Candidate Answer: 12

QID : 233 - A can do a piece of work in 10 days and B in 12 days. With help of C, they finish the work in 4 days. In how many days C alone can do the same work?

A 53t Bl &1 10 & # B v € auT B, 12 oAl # ¢ ) TR ¥ 3 o1 & 4 T H TAd R 94 €1 C 31%a 39 Bl &l fpan 34 H e
Options:

1) 12

2) 15

3) 18

4) 24

Correct Answer: 15

Candidate Answer: 15

QID : 234 - The lengths of two diagonals of a rhombus are 24 cm and 32 cm. What is the side (in cm) of the rhombus?

T FHEgUS & < fawuil & wrarg 24 3 aur 32 9. 81 wmEgde &t yen @l ) ;e
Options:

1) 20

2) 40

3) 20v2

4) 40v2

Correct Answer: 20

Candidate Answer: 20




QID : 235 - The marked price of a chair is Rs 550 and a discount of 20% is given on it. What is the selling price (in Rs)?
TF Gl BT 3Hferd JeT 550 T & U1 IH W 20% Bt ge <t ol &1 facwa g (3 F) 7 &2

Options:

1) 440

2) 430

3) 470

4) 390
Correct Answer: 440
Candidate Answer: 440

QID : 236 - The marked price of an article is Rs 960 and it is sold at a discount of Rs 192. What is the discount percentage?
T % B Sifohd Yo 960 T & TUT I 192 F PI & R 341 &Il § | TE BT WRIRG F7 62

Options:

1) 15

2) 20

3)25

4) 30
Correct Answer: 20
Candidate Answer: 20

QID:237-IfA:B=1:4andB:C=2:3,thenwhatisA:B:C?

gEA:B=1:43RB:C=2:3%, AA:B: CHRIGM
Options:
1)1:4:6

2)2:8:7
3)2:8:5

4)1:4:5
Correct Answer:1:4:6
Candidate Answer: 1:4:6

QID : 238 - If x/y = 2/3, then what is the ratio of (3x + 2y) and (3x —y)?

T x/y = 2/3 8, A (3x + 2y) TUT (3x — y) BT U FT SR
Options:
1)4:1

2)3:1
3)2:1

4)4:3
Correct Answer: 4 : 1
Candidate Answer: 4 : 1

QID : 239 - The average of 21 numbers is 12. The average of the first 11 numbers is 9 and the average of the last 11 numbers is 15. What is the value of the
middle number?

21 TRersii &1 M 12 §1 A Uyw 11 Bl o7 3id 9 U SifQH 11 Temaii &7 Sfid 15 81 /el U3 &l HIF o1 82
Options:

1) 10

2) 11

3)12

4) 13
Correct Answer: 12
Candidate Answer: 12




QID : 240 - If the rice is sold at Rs 56 per kg, there would be a 40% loss. To earn a profit of 20% what should be the price of rice (per kg)?

& A1Ga HY 56 T U {591, BT 3 T S97 91T §, A 40% HT g1 B 1 20% BT A1 U B & I I @t pidd (9l 1F.901.) fea e anfewe
Options:
1) 112

2) 108
3) 116

4) 124
Correct Answer: 112
Candidate Answer: 112

QID : 241 - If the profit is 20%, then what will be the ratio of cost price to selling price respectively?
TS ATY 20% T, N HH: 69 Ted a1 fahT T BT SFEUIT 1 g2

Options:

1)4:5

2)5:6

3)2:5

4)3:4
Correct Answer: 5: 6
Candidate Answer: 5 : 6

QID : 242 - In a school 60% of the students are girls. If number of boys is 480, then what is the total number of students in the school?
s faeme & 60% faendf asfrat 81 ol ast o) WRem 480 B, 1 o & ot fa et g

Options:

1) 1200

2) 840

3) 9%

4) 1320
Correct Answer: 1200
Candidate Answer: 1200

QID : 243 - If one-third of a number is 45, then what will be the 45% of that number?
foreht e o1 Th-fagTE 45 B, T S TS HT 45% T g

Options:

1) 60.75

2) 58.25

3) 61.25

4) 70.75
Correct Answer: 60.75
Candidate Answer: 60.75

QID : 244 - Speeds of a boat along the current and against the current are 14 km/hr and 7 km/hr respectively. What is the speed of boat (in km/hr) in still water?

T 19 B MY URT F G adl R F ufogd foxn & wu=r: 14 o5, /der qur 7 5.1, eer 81 <id 5@ & -1a &t 7if (.t eier &) s &2
Options:
1)35

2)7.5
3) 10.5

4)9.5
Correct Answer: 10.5
Candidate Answer: 10.5




QID : 245 - A person goes from point N to P and comes back. His average speed for the whole journey is 60 km/hr. If his speed while going from N to P is 40
km/hr, then what will be the speed of the person (in km/hr) while coming back from P to N?

U fad foig N & P I § T a7 S § 1 G a1 & oy I9e i Ty 60 6.4t /der 31 afe N & p o & Iuast Tif 40 fos. /e B, P 9 N O o oM
T 39 sfdd 31 1 (fp.=it./der #) a1 giie

Options:

1) 80

2) 100
3) 120

4) 140
Correct Answer: 120
Candidate Answer: 120

QID : 246 - A certain principal is invested in a scheme of compound interest. The amount obtained after 1 year is Rs 2400 and the amount obtained after 2 years is
Rs 2880. What is the rate of interest (in percentage)?

Wﬁ@an@ma@@maﬁ@mﬁﬁwmnw 1 af YT UTT S aTe e 2400 % § T 2 Y YT 1T S JTe fAe 2880 ¥ €| ST B &) T
imm?

1) 20

2)15

3)25

4) 10
Correct Answer: 20
Candidate Answer: 20

QID: 247 -
The line chartgiven below shows the profit (in crores) of
a company for the years 2008 to 2015.

e 2T 9T rar By # 9 2008 ® ¥ 2015 O% T
HOAT & ATH (FUS H) Fr S2RT TAT B

600 -
500
@ . 5001
5% 400 -
G
c E 300 -
S E 2009924
& 100 -
0 T T T T T T T 1
[on} (=)} o - o « =t Tg}
(] (s ] -— - ~— - -~ -~
[e=} [} o o o o (o= ] (=}
N N (oY (9] o™ N [t} o

Year/a§

In how many years from 2009 to 2015 the increase in profit with respect to previous years is more than 30 crores?

Y 2009 | 9 2015 qF fore a8 & 71d auf F gor A Y A IS 30 P T 1P W 2




Options:
1)3

2)2
3)5

4)1
Correct Answer: 3
Candidate Answer: 2

QID: 248 -
The line chartgiven below shows the profit (in crores) of
a company for the years 2008 to 2015.

#r=r 2w are Yar B # 9§ 2008 @ 9§ 2015 A% TH

HUAT 3 o (RUS H) T gUET T4 2

600 -
500
E,ﬁ 500 A
5% 400 -
S m
c E 300 -
£ E 200 1224
=8 100 +
0 T T T T T T T 1
[oa] (=)} o - o (a0 T Lo
] Q — — - - N —
o o o o o o o o
(] (o] [t} (o] o o N o
Year/ ag

What is the percentage increase in profit in the year 2010 in comparison to the previous year?

T 2010 &, 71d ¥ B G A H H b Ui i g% 87
Options:
1) 20

2) 12
3) 10

4) 25
Correct Answer: 10
Candidate Answer: 10




QID : 249 -
The line chartgiven below shows the profit (in crores) of
a company for the years 2008 to 2015.

7= f&T 91T @ R # 9§ 2008 © I 2015 d% TH
HUAT F AT (FUE H) Fr AR T B

600 - c00

7 . 500 -

5 400 -

- E 300 -

€ E 2007224

& 100 A

0 T T T T T T T 1
[oa] [=)] o - (o] (o) 1 ]
[} [a=} — - — - - -~
[an ] [an] o o jan ] o o [}
o™ (o] o™ [ [ N ™~ [
Year /9§

The profit in 2015 is what percent of the profit in 2014?

af 2015 & gU arH ¥ 2014 & g ATH HT frar wfdwra 22
Options:
1)75

2) 115
3) 135

4) 125
Correct Answer: 125
Candidate Answer: 125




QID : 250 -
The line chartgiven below shows the profit (in crores) of
a company for the years 2008 to 2015.

7= f&T 91T @ R # 9§ 2008 © I 2015 d% TH
HUAT F AT (FUE H) Fr AR T B

600 - 500
»§~ - 500 +
5 400 -
[+]
£ E 300 A
€ E 2007224
o 100 -
O T T T T T T T 1
[aa] [=)] o - [ (o] o fp]
[} [a=} — - — - - -~
o o o o o o (] (]
N (o} [at} (o] (] (a] [t} [at]
Year/ag

What is the average profit per year from 2011 to 2015?

¥ 2011 ¥ 99 2015 d%, Ul T ST TTH 1 3?
Options:
1) 398

2) 406
3) 384

4) 387
Correct Answer: 398
Candidate Answer: 387

QID : 251 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

These five sisters (1)/ care for one other (2)/ like mothers. (3)/ No Error (4)/
Options:

1)1

2)2

3)3

4) 4

Correct Answer: 2

Candidate Answer: 2

QID : 252 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Akshay kumar being a (1)/ good actor he is (2)/ presented with the National Award. (3)/ No Error (4)/

Options:
1)1

2)2
3)3

4) 4
Correct Answer: 2
Candidate Answer: [ NOT ANSWRD]




QID : 253 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

More than thirty years have now passed I had my first flight.

Options:
1) since

2) after
3) while

4) when
Correct Answer: since
Candidate Answer: since

QID : 254 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Raman has come up a problem.

Options:
1) for

2) with
3) of

4) into
Correct Answer: with
Candidate Answer: with

QID : 255 - In the following question, out of the give four alternatives, select the one which best expresses the meaning of the given word.

Plight

Options:
1) Blessing

2) Aid
3) Relief

4) Difficulty
Correct Answer: Difficulty
Candidate Answer: [ NOT ANSWERED ]

QID : 256 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Articulate

Options:
1) Distinct

2) Unclear
3) Disconnect

4) Secret
Correct Answer: Distinct
Candidate Answer: Secret

QID : 257 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Mandatory




Options:
1) Optional

2) Voluntary
3) Essential

4) Unnecessary
Correct Answer: Essential
Candidate Answer: Essential

QID : 258 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Negotiate

Options:
1) Adjust

2) Consult
3) Debate

4) Remain
Correct Answer: Remain
Candidate Answer: Debate

QID : 259 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Distress

Options:
1) Concern

2) Pleasure
3) Anxiety

4) Discomfort
Correct Answer: Pleasure
Candidate Answer: [ NOT ANSWERED ]

QID : 260 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Tolerate

Options:
1) Accept

2) Bear
3) Permit

4) Disapprove
Correct Answer: Disapprove
Candidate Answer: [ NOT ANSWERED ]

QID : 261 - In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Break the ice

Options:
1) Bad intention

2) To escape
3) To break the silence

4) To fail
Correct Answer: To break the silence
Candidate Answer: To fail




QID : 262 - In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Cry in the wilderness

Options:
1) Upset the balance

2) An unrealistic demand
3) To defeated completely

4) A sudden shock
Correct Answer: An unrealistic demand
Candidate Answer: [ NOT ANSWERED ]

QID : 263 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

(Upto) the time he wasn't here, we were not sure if he will actually come.
Options:

1) Till

2) To

3) Until

4) No improvement
Correct Answer: Till
Candidate Answer: Until

QID : 264 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement”.

As feared, (differences into) the families pose a hurdle.
Options:

1) difference into

2) difference as in

3) difference amongst

4) No improvement
Correct Answer: difference amongst
Candidate Answer: difference into

QID : 265 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

That which cannot be put out

Options:
1) Illusion

2) Indigenous
3) Incentive

4) Inextinguishable
Correct Answer: Inextinguishable
Candidate Answer: Indigenous

QID : 266 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

The system which is observed to do progress

Options:
1) Violation

2) Impairing
3) Preservation

4) Reformism




Correct Answer: Reformism
Candidate Answer: Reformism

QID : 267 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Beneficial

2) Benfical
3) Benaficial

4) Beneficle
Correct Answer: Beneficial
Candidate Answer: Beneficial

QID : 268 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Continuous

2) Continous
3) Contenuous

4) Countionuous
Correct Answer: Continuous
Candidate Answer: Continuous

QID : 269 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

Integrating diversity

P: governance which is firmly grounded
Q: in international human rights law

R: goes hand in hand with

Options:

1) QPR

2) RPQ

3) PRQ

4) QrRP

Correct Answer: RPQ

Candidate Answer: [ NOT ANSWERED ]

QID : 270 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

Demographic pressure
P: wage rate below

Q: the subsistence level
R: cannot push the

Options:
1) QPR

2) RPQ
3) QRP

4) PQR
Correct Answer: RPQ
Candidate Answer: RPQ




QID : 271 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Books are our friends. They are our guides. We can learn everything from them. The books contain all the great of the world's leaders and we can
learn them by reading the books. The books help us find to our questions. The books never fail us. We should read as books as we can. But all books
are not good. So we should only good books.

Books are our friends.

Options:
1) fake

2) original
3) real

4) majestic
Correct Answer: real
Candidate Answer: real

QID : 272 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Books are our friends. They are our guides. We can learn everything from them. The books contain all the great of the world's leaders and we can
learn them by reading the books. The books help us find to our questions. The books never fail us. We should read as books as we can. But all books
are not good. So we should only good books.

the great of our world

Options:

1) feel

2) thoughts

3) idle

4) money

Correct Answer: thoughts

Candidate Answer: thoughts

QID : 273 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Books are our friends. They are our guides. We can learn everything from them. The books contain all the great of the world's leaders and we can
learn them by reading the books. The books help us find to our questions. The books never fail us. We should read as books as we can. But all books
are not good. So we should only good books.

The books help us find to

Options:
1) answers

2) solutions
3) relations

4) opinions
Correct Answer: answers
Candidate Answer: answers

QID : 274 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Books are our friends. They are our guides. We can learn everything from them. The books contain all the great of the world's leaders and we can
learn them by reading the books. The books help us find to our questions. The books never fail us. We should read as books as we can. But all books
are not good. So we should only good books.

books as we can.

Options:

1) much

2) many

3) few

4) less

Correct Answer: many

Candidate Answer: much




QID : 275 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Books are our friends. They are our guides. We can learn everything from them. The books contain all the great of the world's leaders and we can
learn them by reading the books. The books help us find to our questions. The books never fail us. We should read as books as we can. But all books
are not good. So we should only good books.

So we should only good books and read them.

Options:
1) remove
2) looking
3) steel
4) choose

Correct Answer: choose
Candidate Answer: choose

QID : 276 - Micro-economics is also called

Yy el Y RICTHICICIN
Options:

1) Profit theory

RIEASEG]

2) Loss theory

3) Price theory

ed Ryl

4) Expenditure theory

g Ryl

Correct Answer: Price theory
T Rrgia

Candidate Answer: Price theory

aed Rigia
QID : 277 - Transport comes under which sector of economic growth?

uRag o Tafaf & fvy &= & Siarfa sar g2
Options:

1) Secondary sector

Tadiia® e

2) Primary sector

A &

3) Tertiary sector

4) Quaternary sector

IGHITHSD QD

Correct Answer: Tertiary sector
TS &Ed

Candidate Answer: Tertiary sector

QID : 278 - Which among the following refers the existence of more than one level of Government in the Country?

FrofaRad 7 9 foger onf T2 §f 1 9 ST TR B WPRI BT ST 82
Options:

1) Democracy

ADdiAs

2) Federalism
ediq
3) Monarchy

4) Bicameral

Correct Answer: Federalism
RECICY

Candidate Answer: Federalism
RECIC




QID : 279 - Which among the following Amendment Act is also known as ‘Mini Constitution”?

frafoRad & ¥ fod rerg-ifgur & A 9 +ff S S g2
Options:

1) 2"d Amendment

FGNESRIEE]

2) 42"d Amendment

42af g

3) 48t Amendment

4gaf g

4) 57t Amendment

5741 G=NeH

Correct Answer: 42"d Amendment
423t T

Candidate Answer: 42"d Amendment
4231 Tie

QID : 280 - In which language did Vardhaman Mahavira taught?

A TRIER A DI A o7 F Sroet e e
Options:
1) Prakrit

Ulhd

2) Hindi

3) Pali

qreit

4) Sanskrit

¥pd

Correct Answer: Prakrit
Urhd

Candidate Answer: Prakrit

Hipd

QID : 281 - During which period Non-Cooperation Movement gained momentum?

SN SficTer & g SR & iy firefle
Options:

1) 1910-1912

2) 1915-1917

3) 1921-1922

4) 1930-1932

Correct Answer: 1921-1922
Candidate Answer: 1921-1922

QID : 282 - The moon that we see in the sky is a .

3iremT & feRa ara <%an U &l
Options:

1) Planet

e

2) Star

IR

3) Sun

4) Satellite

LR

Correct Answer: Satellite
IuUg

Candidate Answer: Satellite
Iude

QID : 283 - The world’s longest river the Nile, flows through which continent?

3y 3 I a1 N foh wRTET | i TRe 82




Options:

1) South America
el skt

2) Africa

3{TpTehT

3) North America
IR sRET

4) Europe

Correct Answer: Africa
SIBIDT

Candidate Answer: Africa

3BT

QID : 284 - Which category of compound is most concentrated energy source?

g Aot & At o & Talfie Tpfed @Wa g &2
Options:

1) Fats

991

2) Starch

L]

3) Proteins
4) Vitamins
CEEE]

Correct Answer: Fats
a1

Candidate Answer: [ NOT ANSWERED ]

QID : 285 - What is main root of plants called as?

Yiell P TS ST Y AT Al I 22
Options:

1) Tap root

FSNUEE]

2) Lateral roots

o o

3) Fibrous roots

IR 5

4) Anchor

Rre

Correct Answer: Tap root
FSNUEES
Candidate Answer: [ NOT ANSWERED ]

QID : 286 - The exchange of materials between blood and interstitial fluid occurs only at the :

T 3R SHRTeT TR U & st G &1 seM-UeH Had gl
Options:

1) Veins

Gl

2) Capillaries

EaRicac)

3) Arteries

ot

4) Arterioles

Correct Answer: Capillaries

Candidate Answer: [ NOT ANSWERED ]

QID : 287 - The commonly used thermometric substance is .

TR &Y § T g aren aEdg uerf @




Options:

1) mineral oil
JGiAe dd

2) Alcohol
TEpIgd

3) Mercury
ORI

4) Petrol
L]

Correct Answer: Mercury
URT

Candidate Answer: Mercury
URT

QID : 288 - Heat flows as a result of difference of .

S BT TS SR F IRUTHRGET B g
Options:

1) Temperature

GlELIC)

2) Density

YT

3) mass

SIHTT

4) Volume

AT

Correct Answer: Temperature
GIECIG]

Candidate Answer: [ NOT ANSWERED ]

QID : 289 - What is the full form of GUI?

S g, o, BT Sriféa & U 82
Options:

1) Graphical Universal Interface
Mped gHadd seehd

2) Graphical User Interface

ToR 3B
3) Graphical User Integration

4) Graphical Universal Integration

Correct Answer: Graphical User Interface
i d goR Scxbd
Candidate Answer: Graphical User Interface

Mithehel goR S
QID : 290 - A proton is identical to .

T e &%y g Bl
Options:

1) the nucleus of helium
giferay & NS

2) the nucleus of a hydrogen atom

T3S Io R & IS

3) an alpha-particle

Tdh 3{ehl HUl

4) a beta particle

T §ieT B

Correct Answer: a beta particle

T dieT HO

Candidate Answer: [ NOT ANSWERED ]

QID : 291 - An « particle is )

TP «HU____ grgl




Options:
1) A hydrogen molecule

U gIRGIoH 317

2) A helium nucleus

T gifead e

3) An atom of hydrogen
HESIEERGR e |

4) A proton

T Ui

Correct Answer: A helium nucleus

& gifemd A1
Candidate Answer: [ NOT ANSWERED ]

QID : 292 - What is the process of waste water treatment is commonly known?

SORTE I & IUAR F Uehd Bl AU $U I T H5d 82
Options:

1) Waste water management

SURY S Uy

2) Cleaning of water

S Bt

3) Sewage treatment

TIfed 7 ITEAR

4) Decontamination

RICaU

Correct Answer: Sewage treatment
JIied A ITAR

Candidate Answer: Sewage treatment
qried T STAR

QID : 293 - When was "Pradhan Mantri Mudra Yojana" launched?

"I GaT TS BT YUSHRY FH fpar mar are
Options:

1) September 2014

RydeR 2014

2) November 2014

AdeR 2014

3) April 2015

3D 2015

4) January 2016

SHA 2016

Correct Answer: April 2015
3T 2015

Candidate Answer: [ NOT ANSWERED ]

QID : 294 - Who among the following discovered electron?

Frofifd & e sade &) @i 1 4
Options:

1) J.J Thomson

S, o, e

2) Max Born

g 9

3) Antoine Lavoisier

SIS AATZOR
4) Mendeleef
TSl

Correct Answer: ].J Thomson
. . T

Candidate Answer: [ NOT ANSWERED ]

QID : 295 - Which team has won the 2016 -17 Ranji Trophy?

o €19 71 2016-17 & Ul It Sitdr e




Options:
1) Mumbai

2) Gujarat

3) Karnataka

4) Tamil Nadu
Correct Answer: Gujarat
Candidate Answer: [ NOT ANSWERED ]

QID : 296 - Madhubani artwork started in which state of India?

YT HATHR] HRA & fod Id B ¥ g8 o7
Options:
1) Bihar

2) Uttar Pradesh

JWR U

3) Rajasthan

XSTRAT

4) Gujrat

Correct Answer: Bihar

fasR

Candidate Answer: Bihar

QID : 297 - Who is the recipient of Kala Ratna Award 2017?

2017 & FHAT Id DR & YTddwdi DI o7
Options:

1) Anupam Kher

ST W

2) Om Puri

S| &t

3) Naseeruddin Shah

THIEH 28

4) Prahlaj Nihalani

gt et

Correct Answer: Anupam Kher
EFRLRCH

Candidate Answer: [ NOT ANSWERED ]

QID : 298 - Who is the author of the book named "Making India Awesome"?

e Sfean Sim S YKIP & AP D §?
Options:

1) Jairam Ramesh

SR TH

2) Tarun Khanna

GEEECEI

3) Chetan Bhagat

EGERING]

4) Amitav Ghosh

KIERICRIL|

Correct Answer: Chetan Bhagat

EGERIG]
Candidate Answer: [ NOT ANSWERED ]

QID : 299 - Which country has established new 2+2 ministerial dialogue with India similar to India Japan 2+2 dialogue?

g 3 YR F Y HRA-SIUYM & o1 2 + 2 HER Fare wuifa fobar 82




Options:
1) Britain
fre

2) Australia

fieeferan

3) USA

Tgad T AR

4) Israel

ESNEN

Correct Answer: USA

Tgard I SARDT

Candidate Answer: [ NOT ANSWERED ]

QID : 300 - Which neighbouring country of India lies to the south of Lakshadweep islands?

URA & I 1 IS S A&rgid gid & femor §f fyd g2
Options:
1) Maldives

2) Bangladesh

CRNIESy

3) Myanmar

AR

4) Indonesia

ESICIRGE]

Correct Answer: Maldives

AL

Candidate Answer: Maldives




